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Chemistry 20: Bonding Unit
Lewis, Structural and Shape Diagram W§

Name: l‘ [
/

For the following compounds, draw the Lewis Dot diagram, the structural diagram and
the Shape Diagram. Also, indicate the name of the shape and-teeshape-gede-in the same

box as the shape diagram.
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Melting Points and Boiling Points of Substances with Similar Formula
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All the substances in this table have similar formula weights thus they have
similar London forces. If the only attractions between substances have to do with
size, then they should have similar melting points and boiling points. This is not
the case.

Explain why the pairs of compounds below have different m.p. and b.p.
a. Fluorine and Nitrogen Monoxide
NO hey (0 ¢+ DO
Fooooaly hu Cp
b. Nitrogen Monoxide and Methanol

CH;on hy 1O, 00, HB

NO ealy  hey Lo ¥ 00

7. Which of the following compounds are likely to dissolve in water? Which
of the following will dissolve in C¢H\4 (hexane)?

;'. 2(2:'2 ).:l:,?_“ pollr Adlu(vg; ) /’)olw (l-u"!r)

¢. NaCl w0 '

d. CO, "‘:’“-\4 ﬂm'pﬁlw- c?tl'l‘olvu " nth—;m’cf- (L‘hu%)
c. PH3 H
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Chemistry 20
Unit 1 = Chemical Bonding
Unit Review
March 9, 2007

1) lﬂ@r iodine more reactive? Why?

,,._:yln{r e le‘_‘\'!‘u A5 b .'b

2) l@r lithium more reactive? Why?

,bw - e |u.l-m neJ [N ’ﬁ‘wh

3) Write the half reaction equation for each of the following elements and clossify
the reaction as oxidation or reduction.

a. nitrogen

c Ny v be T 2h7

red
b. potassium

on b — }c“ b le-

¢. magnesium

ox ¢ M’ —_— /P]J?" * 2!'

d. bromine
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6} Draw the Lewis Dot diagram for each substance. Some are ionic and some are h Fj
molecular!

a. NaCl

(W [ex]”

b. SiCl4
R
e St (e
(e
¢c. CO:2

Ot
'
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7) What is the bonding capacity of the following elements?

a. carbon
k. argon

0
{ c. bromine
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@) Identify each of the following molecules as polar, non-polar or ionic
bend"diagram for each.
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